F Mount Line Scan Lens,FrOs et

62

VS-L (F) Series

* B RfEER MR

I VS-L(F) WD~

EESOERES

722.9mm 137.9mm } }
VS-L1828/F (0.025x) (0.12x) | |
1010.8mm 198.1mm ! !
VS-L2526/F 0.025x) 012 ! !
706.9mm . 112.8mm |
VS-L3528/F (0.05%) CE
i '
N 1795.2mm M 289.0mm I I
VS-L3528LM/F 0.02%) 0120 ! !
D T e 3386 ‘ ‘
VS-L5018FL/F 0.05x) (0:14x) | |
1025.0mm S 181.4mm
VS-L5028/F (0.05) L (03
| |
VS-L8540/F 864.2mm 285.0mm
B 0.1 7 (0.35
BESEEM8mm~185(9 9 M, i : . e
ViR SR DRhAN[ELEITFE S, VS-L10028/F (0032;,""“ : ‘ (Oog:w)m }
AAFREMER, 2MEEEE . - _ _ ‘ 039
== = SIS, i 1951.7mm 1404.4mm ‘ ‘
SEBNEFREERIT . Vs liaaie (0108x) (0.169%) i 1
| VS-L1828/F Vs-L25 VS-13528/F
722.9 (0.025X) 1010.8 0. 025X) 706.9 (0.05X)
~131.9 t0.120 " 515 1.5 ~198.1 (0120 ™ 5 5.5 ~ 1128 (0.3%)
(WD)
4.6 46
18.5 9
2 B 2 ; 2
b g i I il
= é L EA el | e B - - = 3 Wil s 1 s i g
g = . by S gl = ~ R S| o
\ AR
2-M2 Lock screw F-mount 2-M2 Lock screw F-mount
826.9 (0.025X) ~241.9 (0.12X) (O/D) 1100.8 (0.025X) ~288.1 (0.12X) (0/1) 824.9 (0.05X) ~230.8 (0.3X) (Ofl)
VS-L3528 VS-L5018FL/F FONRG 028/F
1025.0 (0.05X)
1795.2 (0.02X) 1123.7 (0. 05X) ~181.4 (0.3X)
~289.0 (0.12X) 69.5 46.5 ~388.6 (0. 140) (D) 53.5 46.5 (WD) 58 465
(WD)
13.5 2-M12 Lock screw 46
© < ] o
<
o & i . 7
: 8l g g | Y I
i i T 3 87
S|
M2 Lock screw Fmount t
1911.2 (0.02X) ~405.0 (0.12X) (O/l) 1223.7 [0.05X) ~488.6 (0. 14X] (0/1) 1129.5 (0.05X) ~285.9 (0.3X) (O/l)
bS VS-L1828/F VS-L2526/F VS-L3528/F
EHER 18 mm 25 mm 35 mm
TEERTE (©0) 0.025x ~ 0.12x (©0) 0.025x ~ 0.12x (©0) 0.05x ~ 0.3x
HEER 0.025x 0.05x 0.1x 0.12x 0.025x 0.05x 0.1x 0.12x 0.05x 0.1x 0.2x 0.3x
WD 7229 mm | 3528 mm 168.4 mm 137.9 mm 10108 mm | 496.6 mm 2405 mm 198.1 mm 706.9 mm 346.8 mm 169.5 mm 1128 mm
T 8269 mm : 456.8 mm 2724 mm 2419 mm 1100.8 mm .6 mm .5 mm .1 mm .9 mm .8 mm 7.5 mm .8 mm
WREIERE O/ 008 586.6 330 288 824.9 464.8 28 2308
FNO F28~16 F2.6~16 F2.8~16
SCRFE YEBeFT 29 : 3.0 31 32 27 : 2.8 29 29 2.8 3.0 33 35
SiF sipEEmeodmm 371.2mm - 96mm | 248mm 17.8 mm 3456mm | 89.6mm 23.2mm 16.1 mm 89.6 mm 24.0 mm 6.6mm 3.1 mm
SemsseE 214 % -1.64 % -0.43 %
S mm 9 mm 45 mm
&E 929 2 4]
EEOR M55 P=0.75 M55 P=0.75 M62 P=0.75
-y 330g 245 g 350g
ik VS-L3528LM/F VS-L5018FL/F VS-L5028/F
ERER 35 mm 50 mm 50 mm
AREETE (%) 0.02x ~ 0.12x () 0.05x ~ 0.14x 0.05x ~ 0.3x
=2 0.02x 0.04x 0.08x 0.12x 0.05x 0.07x = 0.1x 0.14x 0.05x 0.1x 0.2x 0.3x
WD 1795.2mm | 890.0 mm 4385 mm 289.0 mm 1123.7 mm 752.4 mm 533.6 mm 388.6 mm 10250mm : 5137 mm 261.9mm 181.4 mm
WEEERO/ 1911.2mm | 10060mm | 5545mm | 4050mm  12237mm | 8524mm @ 6336mm | 4886mm  11295mm | 6182mm . 3664mm | 2859mm
FNO F28~16 F1.8~16 F28~16
SLHF *EBeFF 29 29 : 3.0 32 2.0 2.0 i 2.1 22 3.1 i 32 35 38
SR AvFEEmo00mm  580.0mm | 1450 mm 375 mm 17.8mm 64.0 mm 327 mm 16.8 mm 9.0mm 992mm | 256mm 7.0mm 34mm
St E -0.21 % -2.37 % -0.02 %
%8B ®45 mm $45 mm ®45 mm
EEOR M62 P=075 M62 P=075 M62 P=0.75
£ 340 g 340 g 290 g

HOURS

www.hours-web.com



VS-L8540/F

864.2 (0.1X)
~285.0 (0.35X) (WD)

93

46.5

F Mount Line Scan Lens

g
b z 3
o
< -—-%
g NN S A\ e
— BEEABXTFEIT RN E
F-mount - J
1003.7 (0.1X) ~424.5 (0.35X) (Ofl)
0028 8556/F
0.108x 19617658 0
2050.7 (0.05X) 0.159x 1404. 442 0.108x 136.6 46.5
~409.0 (0.3X) (WD) 98 465 0.159x 146.0
35 56.3 12.2]4.6
(REFED
% I
B o L R — 3 § ﬁ é T e —- T T i
o s of
— e
2-M2 Lock screw 2 F-mount
F-mount
2195.2 (0.05X) ~553.5 (0.3X) (Ofl) 0.108% 2134.8
0.159% 15969 /!
A VS-L8540/F VS-L10028/F VS-L18556/F
ERIEE 85 mm 100 mm 185 mm
AEEEBE 0.1x ~ 0.36x 0.05x ~ 0.3x 0.108x ~ 0.159x
FRfER 0.1x 0.2x :  03x 0.35x 0.05x 0.1x 0.2x 0.3x 0.108x 0.159x
WD 864.2mm 4525 mm : 3208 mm 285.0 mm 2050.7 mm | 1055.7 mm 565.7 mm 409.0 mm 1951.7 mm £ 58 1404.4 mm £ 42
YHRIEIEEO/| 10037 mm | 5920mm | 4603mm | 4245mm  21952mm | 12002mm . 7102mm . 5535mm 21348 mm 1596.9 mm
FNO F4~16 F28~16 F5.6 ~32
SIHF BT a4 48 5.2 54 32 34 : a7/ 4.0 7.1 ; 74
SR AUFHALEC0.04mm 35.2mm 9.6 mm 4.6 mm 35mm 1024mm | 27.2mm 7.4 mm 3.6 mm 485 mm 234 mm
SespsE 0.00 % 0.10 % 0.48 %
%E $50 mm $45 mm ®45 mm
JEEOR M52 P=0.75 M52 P=0.75 M405 P=05
58 350 g 360 g 400 g
v A= =
1 M42, M58 O XUEH|
-~ Sz T - N N Eale I
EORATE, FREHERRKEFE,
VS-L2526/ M42 M42 P=1.0 (FB12) VS-L3528LM/ M42 M42 P=1.0 (FB12)
1010.8 0.025X) 1795.2 £0.02X)
~198.1 [0.12X) (WD) 78.0 12 ~289.0 [0.12X) (WD) 1040 12
*Ti 2-M2 Lock screw *‘f
\ \
E . ] o E e
3 @ e o)t —-—-— K 38 polt-—-—-—F—| i 8
- = . =
2-M2 Lock screw
1100.8 £0.025X) ~288.1 (0. 12X (0/1) 19112 (0.02X) ~405.0 (0. 12X)_(©/D)
VS-L10028/ M42 M42 P=1.0 (FB12) VS-L5028/ M58 M58 P=0.75 (FB12)
2050.7 (0.05X) 1025.0 (0.05X)
~409.0 [0.3X) (WD) 1325 12 ~181.4_(0.3X) (WD) 925 12
3 2-N12 Lock screw 1.3
2-M2 Lock screw *T T
e £
A g { N —— 4 o
3 g —1{e-—- SrE—-—- i § ; 3 o i g % 3|
= =| 2|
e
2195.2 (0.05K) ~553.5 (0.3X) (0.°1) 1129.5 (0.05X) ~285.9 (0.3%) (O/])

HOURS 53

www.hours-web.com



Line Scan Lens for 8K/12K/16K /8K 12K 16K &L

VS-L(V) Series

o BIIRAVA, RIS ERIEE,
o TEFINESREE.

o SLMFEIDYCREDR. SXIE,

o HIBRRANRIT, URIERERAEIE

+

1 mRER

L L seR | 2l¢ ] 26| 350 | 450 | 65 | 909 ]

2048bitX10u4=20.48mm [ ) [ J [ ) [ ) o [ )
2048bitX14 4 =28.67mm o o [ [ (]
7400bitX4.74=34.78mm @ @ o [ J (]
4096bitX10u4=40.96mm o o [ ]
SZPEENS FRY 6144bitX74=43.00mm [ J () [ J
8192bitX7u=57.34mm [ ] [ ]
12288bitX5u=61.44mm o (]
16384bitX5u=81.92mm [ )
12288bitX7u=86.01Tmm [ )
2048 x 2048 (7.4p) = 15.15%15.15 (X £21.43mm) o o ([ o [ J
EREAETLS F RY 4096 x 3072(6p) = 24.57x18.43 (X £530.72mm) o ® o o
4008x2672(19Hx9H)= 76.15x24.04 (X} £79.86mm) (]
SRRIRE SN AESVEER
I WD - {§&XJiExR VS-L5045FL/M72S
Vs L5045FL/M7ZS 1 763 pATTe 373 7 0 ~373.7 (0. ISX](W) 89.7 : 31.8
(0.03x) ! (0. 15><) ! . T
V5-L7528/M72-31.8 “ig_‘gé;*;m ! : ! 4}%;2;”)”‘ 1 | —
VS-18528/M72 Ve : : 16350 ] d
VL8528MMT2 e K 1i —
g g i ik EEE
8|
1884.9 (0.03X) ~495.2 (0.15X] (ll/;‘)2 e
VS-L7528/M72-31.8 VS-L8528/M72 VS-L8528LM/M72
1544.2 (0. 05x)
— N ,A:‘ - e 0[0['[;’_5;5]5] 105.2 5.8 20 1020 9.2 318
2.5 Lock srew N2x4 Look sorew (WD) | 2-M2 Lock screw (WD) | 2-M2 Lock screw 4
; A ; i - E‘ I % _ E. IS 3

3-M2.6 Set screw -
~ 3-M2.6 Set screw
440 50t soren L 1859.9 (0.050) ~503.0 (0.25x) (01 et ST 1854.0 £0.050 ~592.0 10,2 /1)
1659.2 [0.05x) ~534.5 (0.26) (0;1)

VS-L5045FL/M72S VS-L7528/M72-31.8 VS-L8528/M72 VS-L8528LM/M72
FEaEE 52.5 mm 75 mm 85 mm 85 mm
S fER 0.03x 0.10x 0.15x 0.05x 0.1x 0.15x 0.2x 0.05x 0.15x 0.25x 0.05x 0.1x 0.15x 0.2x
WD 1763.4 mm 545.2 mm 373.7 mm 1544.2mm 790.6 mm 5419 mm ' 4195mm 1722.9 mm 598.0 mm 366.0 mm 1724.0mm 8784 mm :599.4 mm ' 462.0 mm
YRIBIEEO/| 18849 mm | 666.7mm | 4952 mm 1659.2mm 9056 mm 6569 mm  5345mm 1859.9 mm : 7350 mm : 503.0 mm 1854.0mm 10084 mm 7294 mm  592.0 mm
ENO F 4.5~ 22 F28~16 F2.8~ 16 F2.8~16
SEUF *HBETF 4.7 i 5.0 i 5.3 3.0 3.1 33 34 3.0 3.2 35 29 = 31 32 | 34
NA — 0.083 0.016 0.023 0.029 — —
S5 AVHERE0004mm — 96.0mm  248mm @ 11.7mm = 68mm 96.0 mm M4mm | 45mm 928 mm  248mm  14mm = 68mm
w 0.00%  015% | 022% -0.66 % -0.06 % 0.02 %
L =378 v=3es) =3y [
Aih=EE 48 % (Y=37.5) 45 % (Y=36.5) — -
‘@ ®75 mm ®73 mm $62 mm $»62 mm
SEEOR M86 P=10 M67 P=0.75 M72 P=0.75 M77 P=0.75
a8 910 g 440 g 520 g 540 g

64 HOURS

www.hours-web.com



I WD - fE=3EE

Line Scan Lens for 8K/12K/16K  VS-L(V) Series

VS-L6035/V | | | | | | | | | 1 1
| | | | | | | | | | |
| | | 132.6mm . \ " N 101.5mm | | |
VSLISON | _ gy Cm—lex
VS-18540V 1 1 1 1 1 1 1 1 1 1 1
| [ mm | | | | | | | | | |
VS-18540-06/V ‘ C06%) ! ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘
633.4mm, 414.8mm
VS-112056-03/V (0225%) = (0 37y 1 1 1 1 1 1 1 1 1 1 1 1
! 417 2mm’ i i 285.9mm ! ' ! ! ! ! ! !
VS-L12056-05V | 03750 ‘;o.ezsxr)d‘ ] ] ‘ — -
‘ ‘ 84.9m 228.1mm ‘ ‘
Vs-L12056-075V 1 1 1 1 (0.625X); ‘ L (0.875%) 1 1 1 1 1 1
I I I I I I I 2282mm | | 196.6mm I I I
VS-112056-1/V | | | | ! | | | 0875 C—— 125%) | | |
360mm 311.5mm
VS-112035-05/V 3 3 (0.45%) 3 ﬁi 055X 3 3 :? 3 3 3 3 3 3 3
260.3mm 38.9mm
VS-L12035-075V 1 1 1 1 1 o =0 1 1 1 1 1 1
sy | N . S wmesm
I I I I I I I I I I I 1270mm I I
VS-112040-2/M67S ] : : : ] ] ] : : ] ] 200 ‘
VS-1120402.5/M67S | S o - | o fesmn
1 1 1 1 1 1 1 1 1 1 1 2 ga7mm
VS-112028-3.3/M67S ! ! ! ! ! ! ! ! ; ; ; ; L(3.3%)
| | | | | | | | | | | | | 78.7mm
VS-112025-5/M675 ‘ ‘ ‘ ‘ 1 1 1 ‘ ‘ 1 1 1 1 G0N
349.2+11 94 87.0(FB) 345.2+10 34 99.5(FB) 187.0+6 36.5 121.7(FB)
(WD) (WD) (WD)
25 125 45 T 118 oom Tor 135 0em) 45 45
1.5 30 1.2x 149.9
- 12 45 15 16.5
u .15 _ — |
& & o 3 & 3 e
| o it < w| | 7 ) ~ '@
a1 [ N 8l 8le x| oY P e - I _Isl.s , 28— L L3 8 e
e S 253+ e e P i SES SR ° 9
— % \ M2 Lock screw 2 Lock screw ? g; §7§ g(om W2 Look sorew M2 Lock screw
530.2(0/1) 1.2x 281.4 478.7(0/1) 345.2(0/1)
& VS-L6035/V VS-L7540/V VS-L8540/V VS-L8540-06/V
EREE 60 mm 75 mm 85 mm 85 mm
SeEspms 0.165x 0.8x 1.0x 1.2x 0.28x 0.6x
WD 349.2 mm £11 132.6 mm 114.0 mm 1015 mm 345.2 mm £10 187.0 mm £6
WERBERO/ 530.2 mm 282.7 mm 279.0 mm 281.4mm 478.7 mm 345.2 mm
FNO F3.5~22 F4~22 F4~16 Fa~16
SLHF “HERTF 4.1 7.7 8.7 9.6 5.1 6.4
NA 0.020 0.052 0.057 0.063 0.027 0.047
SR AVFERLEC004MM 12.0 mm 1.0 mm 0.7 mm 0.5 mm 5.2 mm 1.4 mm
SessskE 0.08% 20.01% 0.00 % 0.04%
1&E ®»62 mm ©$82 mm ®»62 mm »62 mm
EENR M67 P=0.75 M34 P=05 M 405 P=0.5 M375 P=05
S 360 g 1349 160 g 170 g

VS-L12056-03/V

0.225X 133.8 0.

VS-L12056-05/V VS-L12056-075/V | vs-L12056-1v [

0.225X 633.4 375X 417.2 0.375X 153.7 0.625K 284.9 0.625X 188.2 0.875X 228.2 0.875K 218.4
0.3 496.7 0.3X  143.0 (FB) 0.5X  335.2 0.5X 169. 1(FB) 0.75K 249.7 0.75X  203.7(FB) 10X 2104 10X 234 0(FB)
0.375X 414.8 36 0.375X 152.2 0.625X 285.9 33.5 0.625X 184.5 0.875X 228.1 36.5 0.875% 219.2 1125% 196.6 3.5 17125X 249.6
(D) | as (WD) 45 (WD) | a5 WD) 45
18.5 20 18.5 17.5
-n7 @ bk o] ) g ) wo!
g & g & g &£ . &
ool |2 o gl s olgl@ o ool ol
S g1 — T Sler 3T —URSET S8lg T TOSSE ] R E T o TSEE
_D. 225X 803.2 = 0.375X 604.4 0. 625X 509. 6 0.875X 483.1
P it (0 wun B B w5 e L L
A& VS-L12056-03/V VS-L12056-05/V VS-L12056-075/V VS-L12056-1/V
it 120 mm 120 mm 120 mm 120 mm
puricali=Ed 0.225x 0.3x 0.375x 0.375x 0.5x 0.625x 0.625x 0.75x 0.875x 0.875x 1.0x 1.125x
WD 633.4mm | 496.7mm | 414.8mm  417.2 mm 335.2mm | 285.9 mm 284.9 mm 249.7 mm | 228.1 mm 228.2 mm 210.4 mm 196.6 mm
WREIEEO/ 803.2mm | 675.7mm : 603.0mm  604.4 mm 537.8 mm | 503.9mm  509.6mm : 489.9mm | 483.8mm  483.1mm | 4809 mm . 482.7 mm
FNO F5.6~32 F5.6~ 32 F5.6 ~ 32 F5.6~32
SLHF *KEETF 6.9 7.3 7.7 7.7 8.4 9.1 9.0 9.6 10.3 10.3 11.0 11.7
NA 0.016 0.021 0.024 0.024 0.030 0.034 0.035 0.039 0.042 0.042 0.045 0.048
23R AVREEEC0.04mm 10.9 mm 6.5 mm 4.4 mm 4.4 mm 2.7 mm 1.9 mm 1.8 mm 1.4 mm 1.1 mm 1.1 mm 0.9 mm 0.7 mm
HH K E (Y=45) -0.02 % 0.01% -0.02 % 0.00 %
NSRS (Y=45) 57% 60% 63% 69%
“BE $90 mm $90 mm $90 mm $90 mm
EEOR M405 P=05 M405 P=05 M405 P=05 M405 P=05
E 170g 160 g 165g 1659

HOURS ©°

www.hours-web.com



66

_vsiizossosv [

0.45X 360.0

0.45X 151.5

L vsuizossorsv [

0.7x 260.3

. . 0.7x 184.2 0.9x 229.0 0.9x 197.0
0.5X 333.2 (WD) 0.5 157.5 (FB) 0.75x 248.9 (D) 0.75x 190. 2 (FB) 1.0x 215.7(WD) 1.0x 209. 0(FB)
0.55X 311.5 43 0.55X 163.5 0.8x 238.9 41.3 .8x  196.2 1.1x 204.8 40.5 1.1x 221.0
1.5 7.5 2.5
21 21.2 25
- I— ) — "
2 [ | n =2
< ] u T -
Zla g = 3 HE: 1. 5 EE . 12
SEERBI B B3E 1 1rlger— 2F o~ EHMER : T
= e 2le el
T Big M2_Lock screw s M2 Lock screw K
0.45X 554.5  ©|® 0.7x 485.8 0.9x 466.5
M2 Look serew /%™ 6y 533 7(0/1) 0. 75% 480.4(0/1) 1.0x 465.2(0/1)
0.55X 518.0 0.8x 476.4 1. 1x 466.3
VS-L12035-05/V VS-L12035-075/V VS-L12035-1/V
120 mm 120 mm 120 mm
0.45x 0.5x 0.55x 0.7x 0.75x 0.8x 0.9x 1.0x 1.1x
360.0 mm 333.2 mm 311.5 mm 260.3 mm 248.9 mm 238.9 mm 229.0 mm 215.7 mm 204.8 mm
Y&IEREE O/ 554.5 mm 533.7 mm 518.0 mm 485.8 mm 480.4 mm 476.4 mm 466.5 mm 465.2 mm 466.3 mm
FNO F3.5~32 F3.5~22 F35~22
SLHF kB2 5.1 5.3 5.4 6.0 6.1 6.3 6.7 7.0 7.4
NA 0.044 0.047 0.051 0.058 0.061 0.063 0.067 0.071 0.074
SR AVEEREC004mm 2.0 mm 1.7 mm 1.4 mm 1.0 mm 0.9 mm 0.8 mm 0.7 mm 0.6 mm 0.5 mm
SeBeLLE (Y=45) 0.05 % 0.01 % 0.05 %
BN (Y=45) 83% 84% 84%
BB $90 mm $90 mm $90 mm
EEOR M52 P=0.75 M46 P=0.75 M46 P=0.75
3 390 g 350 g 350g
B VS-L12035 MTF T—T T 1 1T T T T T T T 1 T T T T T
— F3.5 50LP/mm, 100LP/mm —F5.6 50LP/mm, 100LP/mm — F8 50LP/mm, 100LP/mm
Image height [mm]  Y=45 Imagé height [mm]  Y=45 Image 'h-eight [mm]  Y=45
12040-2/M67S 040-2.5/M675S
127. 0 (WD) 118.5 303. 1 115.5(WD) 117 360. 7
43.5 15 6 42 15 6
M2 Look sorew M2 Look screw
< ] < I
28 +-———t1r—— 1T &5~ 28 4-—— — F—E 5 —-—
\3-43 Set sorew rotation \3-43 Set sorew rotation
548.6(0/1) 593.2(0/1)
A F—1 - - A F—1
028-3.3/M675 LAt VS-L12025-5/M67S TIEE]
82.7 (WD) 129.5 413.2 78.7 (WD) 140 600
21 9.5 20 6 35.5 104.5 6
M2 Lock screw M2 Lock screw
e by 4 T
gy +—1 H4—-{HH —2—5 — 8y +—— bt — e

625.4(0/1)

3-M3 Set screw rotation

818.7(0/D

3-M3 Set screw rotation

ERIER

prcali=E 2.0x .

WD 1270 mm 115.5 mm 82.7 mm

WEIBIEBEO/ 548.6 mm 593.2 mm 625.4 mm

ENO F4~22 F4~22 F28~22

IHF *KELFF 121 13.7 12.6

NA 0.083 0.091 0.131

=R AFEIE0.04mm 0.2 mm 0.2 mm 0.09 mm 0.05 mm
SessseE 0.07 % (Y=45) 0.04 % (Y=45) 0.04 % (Y=45) 0.03 % (Y=43.2)
Bin=E 97 % (Y=45) 98 % (Y=45) 99 % (Y=45) 100 % (Y=43.2)
1% ®»90 mm ®90 mm 90 mm ®86.4 mm
wEOR M52 P=0.75 M52 P=0.75 M62 P=0.75 M52 P=0.75
S 680 g 670 g 950 g 960 g

HOURS

www.hours-web.com



Adaptors for V Mount Lens / viOgssL R

Mount Adaptor

ORZFRFIVIEIRL ISR
Com

Lens Holder

LH Adaptor

(%H)
53
OR-LHEIMT2 (=11
-
938 .
R 165 OR-LHM72
(=5
OR-LHV2 I=6
—_— N =
B OR-LHMS8
(=3

Il Lens Holder

I LH Adaptor

Extention Ring(s)

=0.75

M72 P:

=0. 75

M58 P:

OR-LH/V OR-LH/V2 OR-LH/M72
= H 5
w_% J12° oy 10 1
g 534 %: 64 1
g 2e Wil T g g Ml T o Bl
3 E ¥z
1-6 1-6
OR-LH (M41) OR-LH53/M72 =5
15 L !
e 7 @7 OR-LH/M58
3 = - S iR
H 3 §
: 3
1=11 Ll
=10
I Extention Ring I Mount Adaptor

OR-EXRI0/M95
H H 1 -
OR-EXR CICIM72
(88) ~
OPTT72 |
[=39~59
OR-EXR30/M90
(=30
- M90, P=1.0
—
OR-EXR LJ[J M58
. (89)
OPT58 (%8)
L=39~59
. M72, P=0.75
0l Focus Ring
OPT72 OR-LS-M58x075
(=118
(G225))
g [\
ele| I i M58, P=0.75
el o T [ o~
5 5
= ** OR-LS-M42x100
(=15.8
e
OPT58
M42, P=1.0
_\ }— —
OR-LS-M5842x100
[=15.8

962
961
M58 P=0.75

M58 P=0.75
)
I

OR-EXRI/M72

1

OR-EXR 90/M95

for M95 (P=1.0)

93

~

89

OR-EXR30/M90

for M90 (P=1.0)

30

IS

0.75
0.75

@75

M72 P:

Il
|
+
M72 P
0.75

696
W72 P:
I

OR-EXR10/M72 R[]

OR-EXR20/M72 |pl0]

OR-EXR30/M72 JEN] —
0

OR-EXR40/M72 I

OR-EXR50/M72 IEMY

OR-EXRLII/M58

1 4
|

=89

for M58 (P=0.75)

11.8,. 4l ‘

T

M95 P=1.0
0.75
1.0

398
991

M72 P
M90 P=1.{

=30

for M42 (P=1.0)

0.75
0.75

961

M58 P:

M58 P:

0.75
0.75
0.75

975
M72 P=(
975

M72 P

M58 P:

I
OR-EXRT0/MSS JRI0
OR-EXR20/M58 ) i
OR-EXR30/M58 JIEN]

993

for M42 (P=1.0)

OR-LS-M42x075
= M42, P=0.75
OR-LS-FMT
(=144
F#n

OR-LS-M58CMT|
|
Czn

OR-LS-CMT
=5

for F-mount

10, 4.4

1.0
=0.75
=0.75

M42 P=
975

M72 P
M51.5 P
975
M72 P=

OR-EXR40/M58 0]

OR-EXR50/M58 Y]

1=11.8

15.8 4 f 15.8 ‘4
[ g o by
s 9T Tl | ¢
I S| ] 3 &
o o~ -
g S 9 8
2| = 2|
[=15.8 [=15.8

=158

=144

0.75

v

l

for C-mount

o 1@
'~

C-mount

OR-LS-M58x075 OR-LS-M42x075 OR-LS-M42x100 OR-LS-M5842x100 OR-LS-FMT OR-LS-CMT [ OR-LS-M58CMT

for M42 (P=0.75)

for C-mount

RN
5, .4

961
=0.75

M58 P

C-mount

“"HOURS 7

www.hours-web.com





